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Geographic Issues of the 21st Century 




Chapter 16 - Settlement Patterns

Read in your textbook starting on page 185 - 193 and answer the following questions.
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1 – Define the term ‘settlement patterns’.
2 – Define the term ‘population distribution’.  

3 – What causes dispersed and concentrated population distributions?

4 – Why is a linear pattern of population distribution not as common?  
Give one example from the text and one example from your own experience of linear population distribution.

Rural Settlement Patterns

5 – What are the three types of patterns in rural settings?

6 – What three factors played a role in creating the rural settlement patterns?

7 – In a sentence, describe how the long lots of Quebec emerged.  Draw a diagram to represent this settlement pattern.

8 – In a sentence, describe the section system of the Southern Prairies.

9 – What are resource-based settlements and service-based settlements?

The History of Urban Settlement Patterns

Read pg. 195 – 197 to complete the following questions.

1 – What was the Agricultural Revolution?

2 – What was life like before the Agricultural Revolution?

3 – What are the “cradles of civilization”?

4 – Why was trade important for these early towns and cities?

5 – Explain how population density affects the distance between towns.  (Hint: think of Southern Manitoba and Northern Manitoba)

6 – What is the difference between low-order goods or services and high-order goods or services?
